RETIREMENT PERCENTAGE CHART - GROUP 4

Directions: Multiply the indicated percentage by the average of your three highest consecutive years reqular compensation.

Example: For a 55 year old employee with 20 years of service and an average regular compensation of 30,000:

Option A Retirement Allowance is 50% x 30,000 = $15,000

YEARS OF |AGE
SERVICE 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55-65
10 25.0
11 27.5
12 30.0
13 32.5
14 35.0
15 37.5
16 40.0
17 42.5
18 45.0
19 47.5
20 2.0 4.0 6.0 80 300 320 340 360 380 400 420 440 46.0 480 50.0
21 2.1 4.2 6.3 84 315 336 357 378 399 420 441 46.2 483 504 525
22 4.4 6.6 88 330 352 374 396 418 440 462 484 506 528 55.0
23 6.9 9.2 345 368 391 414 437 460 483 506 529 552 575
24 96 360 384 408 432 456 480 504 528 552 576 60.0
25 375 40.0 425 450 475 500 525 550 575 60.0 625
26 39.0 416 442 468 494 520 546 572 598 624 65.0
27 405 432 459 486 513 540 56.7 594 62.1 648 675
28 420 448 476 504 532 560 588 616 644 672 70.0
29 435 464 493 522 551 580 609 638 667 696 725
30 450 480 510 540 570 600 630 660 69.0 720 75.0
31 465 496 527 558 589 620 65.1 682 713 744 775
32 480 512 544 576 608 640 672 704 736 768 80.0
33 495 528 56.1 594 627 660 693 726 759 79.2 80.0
34 51.0 544 578 612 646 680 714 748 782 80.0 80.0
35 560 595 630 665 700 735 770 80.0 80.0 80.0
36 612 648 684 720 756 79.2 80.0 80.0 80.0
37 666 703 740 777 80.0 80.0 80.0 80.0
38 722 760 798 80.0 80.0 80.0 80.0
39 780 800 80.0 80.0 80.0 80.0
40 80.0 80.0 800 80.0 80.0 80.0




